Total Pages—12 C/18/B.Com./Part-II(H)/3T(N)/MH-6
i .

NEW
! Part-III 3-Tier
f 2018
COST ACCOUNTING AND STATISTICS

(Honours in Marketing Management)
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Full Marks : 100

Time : 4 Hours

\

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

‘ lllustrate the answers wherever necessary.

Group—A

1. Answer any one question : 1x15

{a) What do you mean by costing ? Distinguish between
Cost Centre and Cost Unit. What do you mean by
technique of Costing? Mention any four techniques of

Costing. 2+8+3+2
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(b} The following information have been extracted from
the records of a company for the month of April, 2017.

¥
Raw Materials Consumed 1.00,000
Direct wages 50,000
Direct Expenses 25,000
Factory overhead 25% of direct wages
Administration overhead Re. 0.20 per unit

Opening stock of Finished goods (8000 units} 16,000
Closing stock of Finished goods (10000 units) ?
Selling #nd distribution overhead Re.l per unit
Sales (98000 units) | 2,45,000 -

Prepare a Cost Sheet for the month of April, 2017,
assuiaing that sales were made on FIFC basis. If sales
were made on LIFO principle then what would be the
value of closing stock of finished goods.

{c) A company manufactures 5000 units of a product per
month. The cost of placing an order is Rs. 100. The
purchase price of the raw material is Rs. 10 per kg.
The re-order period is 4 to 8 weeks. The consumption
of raw rnateriais varies from 100 kgs to 450 kgs per
week, the average consumption being 275 kgs. The
carrving cost of inventory is 20% per annum. You are
required te calculate . {i) Re-order quantity (ii} Re-
order level (iii) maximum level {iv) minimum level
{v) Average stock level. 3+3+3+3+3
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Z. Answer any three questicons: 3x8

(a] From the following information select the most
suitable method of pricing material issues and write

! up a store Ledger :
!
2018
\January 1 : Opening balance 24000 kgs @ 7.5 per kg.
1 : Purchased 44000 kgs @ ¥ 7.6 per kg
3 : issued 10000 kgs '
| 5 : Issued 16000 kgs
12 : Purchased 10000 kgs @ ¥ 7.8 per kg
13 : issued 24000 kgs
18 : Issued 25000 kgs
73 . Purchased 50000 kgs @ T 8 per kg
! 28 : lssued 20000 kgs
31 : Issued 22000 kgs
On the 24th January, 2018 a shortage of 200 kgs was

noticed in stock taking. 8

(b) From the following particulars you are required to
‘ workout the earnings of a worker for a week undey :
(i) Straight piece rate, (i Differential piece rate,
(idi) Halsejlr Premium Scheme and (iv) Rowan Premium

Scheme :
Weekly working hours : 48
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Hourly Wage rate ;: T 7.5

Price rate per unit ; ¥ 3

Normal time taken per piece : 20 minutes
Normal output per week : 120 pieces
Actual output for the week : 150 pieces.

Differential piece rate : 80% of piece rate when output
is below normal and 120% when output is at par

above normal. 8

{c} Product ‘A’ is obtained after it passes through three
distinct process. 2000 kg of material of ¥ 5 per kg were
issued to the first processes. Direct wages amounted
to ¥900. and production overhead incurred ¥ 500.
Normal loss is estimated at 10% of input. The wastage

is sold at ¥ 3 per kg. The actual output is 1850 kgs.

Prepare process 1 A/c, Normal Loss A/c and Abnormal
Gain or Abnormal Loss A/c as the case may be. 8
(d} Write a short note on ‘perpetual Inventory system’,

8
(e} Classify different types of costs. 8
2. Write short notes (any three) : 3x2

(&} Prime cost

{b) Idle time
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{¢) Economic Order Quantity
(d) Absorption of Overhead.

(e) Cost Plus Contract.
|
[Internal Assessment — 5 Marks]

Group—B

|
4. Answer any one question : ' 1x15

() () A computer while computing the correlation
coefficient between two variables X and Y from
25 pairs of observations obtain the following net

i results :

‘ ZX = 125, =Y = 100, £X2 = 650, XY2 = 460 and
! IXY = 508.

w - It was, however, discovered at the time of
checking that the two pairs of observations were
not correctly copied. They were takes as (6, 14)
and (8,6), while the correct values were (8,12) and
{6,8). Prove that the correct value of the

! correlation coefficient should be 2/3.
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(i) Write a short note on positive and neéative

correlation. 12+3

(b) (i) Calculate the quantity Index Number using
Fisher’s Formula for the following data and show

that it satisfies Time and Factor Reversal Test :

Commodity 1979 2017
Price | Quantity | Price | Quantity
A 50 10 56
B 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
(i) State the uses of Index Numbers ? 12+3

(c) Discuss different components of time series. What do
you meanly cost of living index. : 10+5

5. Answer any three questions : 3Ix8

(a) Distinguish between sample survey and census

survey.

(b) Prove that correlation eoefficient lies between -1 and
+1.
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{c) (i) If the standard deviation of two sets of observation
n, and n; be the same as the standard deviation
of their combined group, then show that the two
sets of observations have the same mean. 4+4

i (i) Find the S.D. from the following daia :

Class : 0-10]10-20|20-30|30-40{40-50]50-60]60-70
Frequency:| 8 12 10 8 3 2 7
I

| (d) Marks obtained in Statistics and Economics by 10
BBA students are given below : _ 8

Students: |A]BJC|D|E{F | G|H|I|J
Statistics: (61|38 {4957 |42(34|93 |87 46|35
Economics: 31|38 |28135(19 (4245|148 22|31

Calculate Rank correlation coefficient and interpret
the result.

6{ Answer any three questions from the following : 3x2

(a) If mean is 10 and CV 5%, what is the S.D. ?

! .
(b} Write short note on Kurtosis.

(¢} For a distribution the first two moments about 1 are

i 2 and 25. Find the mean and S.D. of the distribution.

(d} What is Skewness ?
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(e} What do you mean by time series ?

(f) State the relationship between regression coefficient

and correlation coefficient.

[Internal Assessment — 5 Marks]
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(¥) Same as 1(b} English version.
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‘ (%) Same as 1{c) English version.
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' (%) Same as 2(a) English version.

{¥) Same as 2(b} English version.

(%) Same as 2(c) English version.
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‘Commodity 1979 2017
| Price Quantity Price Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E _ 8 40 12 36
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() Same as 5(c) English Version.
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(€) Same as 5(d) English Version.
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